DGT WSC Paper -1

Question Previous | New
Sr.No Id Question Description Question Body Options Correct Correct
Option Option
1 7972 Q01_DGT_May19_WSC1 Which effect of electric current 31881:Heating effect / ardag UHIg, 31883
applies in the working of generator
and motor? & HH H
3Ggd vaTg 1 S F UM AL B 82 | 31882:Chemical effect / D
UHId,
31883:Magnetic effect / P UG,
31884:Physical effect / Hifd® T4,
2 20503 Q01_DGT_NOV18_WSC1 A machine component weighing 81935:300.000 3J, 81935
1500 kg is lifted to a height of 20
m. What is the work done in Joules? | 81936:150.000 J
(Assume, g = 10 m/s2).1500 kg ! !
mwwwﬁqmzorﬁa?ﬁ 81937:3000 J,
S T S S €1 9% ST (TF 7819381750 J
) fpa gl (FA S, g = 10 m/s2) !
3 7973 Q02_DGT_May19_WSC1 What is the resistance of a wire 31885:0.2 ohm / 0.2 3-ﬁ'1:[, 31887
whose conductance is 0.2 mho? 0.2
mho T AT TR F1 IRIY T2 [ 31886:2 ohm / 2 34,
31887:5 ohm / 5 3{iH,
31888:20 ohm / 20 31,
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20504 Q02_DGT_NOV18_WSC1 A body weighing 100 N lies on a 81939:(i) 75 N (ii) 100 N (iii) 100 N, 81941
horizontal plane of which u = 0.75.
Calculate:- (i) Normal reaction (ii) . "
Limiting force of friction (iii) 81940:(i) 75 N (ii) 75 N (iii) 75 N,
Horizontal force required to move - —
it.waﬁ?aﬂm 100 N%%e]ﬁ-m 81941:(i) 100 N (ii) 75 N (iii) 75 N,
g W US! 5, I &T p = 0.75 3l . —
o Y. (i) el feaee (i e | 81942:(1) 100 N (i) 100 N (iii) 75 N,
TR 3T FaRE (iii) 30 Jd FRA &
fo afts wH|
7974 Q03_DGT_May19_WSC1 The correct formula for_mechanical 31889:M. A. = Load / Effort / TH.T. = | 31889
advantage (M.A.) of a simple UR / 99
machine is:- T LR AR & '
Tifie e (M.A.) 1 Fe1 8- 31890:M. A. = Effort / Load / TH. W, =
99 / UR
31891:M. A. = Effort x Load / TH. T,
= 4H x HR,
31892:M. A. = Effort + Load / TH. T.
= 97 + R,
20505 QO03_DGT_NOV18_WsSC1 A metallic ingot weighing 400 kg is | 81943:1242 KC, 81946
heated from 30° C to 729 C for
forging purpose. Calculate heat 81944:1332 KC,
absorbed by ingot, if specific heat is
0.09. qﬂ'ffﬁqg%{qqga forg, 4oon|;g ae | 81945:1422 KC,
U U¢h Dl 30°C ¥ 72°C ddb TH o .
7| afe WiIfh® g 0.09 €, @ UcH 81946:1512 KC,
GRT SN T T 0T |
7975 Q04_DGT_May19_WSC1_M | A crow bar 3 m long supported on a | 31893:0.25 m / 0.25 ot , 31894
stone lifts a load of 150 kgf. If
effort applied is 30 kgf, find the 31894:0.50 m / 0.50 HT,
distance of the support from the _
load_é@éﬁ_ﬂﬂaaﬁwwwm 31895:0.75m / 0.75 Ht,
I §, Sl 150 fbIT 4R BT YR I3l :
31 s T el 7T T 30 ke 3, 31896:1.00 m / 1.00 HT,
@ UR § YU FT & &1 a1 |
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8 20506 Q04_DGT_NOV18_WSC1_ | A wire has a conductance of 0.2 mho. 81947:0.2 ohm / 0.2 3-h1:[, 81949
M What is its resistance?Tdb dR &I
0.2 mho 21 9 BT Y e 22 81948:2 ohm / 2 3fH,
81949:5 ohm / 5 34,
81950:20 ohm / 20 34,
9 7976 QO05_DGT_May19_WSC1_ | Which .relation is not correct? P T &Y 31897:1dynex 1cm=1erg/ 1 31900
M T e 27 SR x 1 9 = 1 3ff,
31898:1 newton x 1 metre = 1 joule
/1ged x 1Hiex = 1 9d
31899:1 joule = 107 erg / 1 S =
107 37T,
31900:1 kg metre = 8.9 joule /
1fparm diex = 8.9 9d,
10 20507 QO5_DGT_NOV18_WSC1_ | In pneumatic system, a sensor serves 81951 :Transmission / ET@[Q]T-[, 81953
M the purpose of gafcs —
ToTe . T T S sewm e | 81952:Control / R,
P B B 81953:Feedback / BlSa®,
81954:Storage / ¥R,
11 7977 QO06_DGT_May19_WSC1 If N = rotational speed in rpm, and T = 31901:H.P. transmitted = n N T/ 31902
torque in kg metres then 7 —
ﬁwﬁ 4500 / T4 =n N T/ 4500,
T = P 2, 31902:H.P. transmitted = 2 n N T /
4500 /Ta. 0. cfcE = 2 nN T/
4500,
31903:H.P. tra_nsmitted =nNT/
5400 / T4.4l. TRIACE = n N T / 5400,
31904 :H.P. tra_nsmitted =2nNT/
5400 / .Ul cICE =2 nNT/
5400,
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12 20508 QO06_DGT_NOV18_WSC1_ | The atmospheric pressure of 1 bar is 81955:1000,000 pascal / 1000,000 81956
M equal to .1 9R 9r”gH UG
%a1a F IR B '
81956:100,000 pascal / 100,000
UR&d,
81957:10,000 pascal / 10,000 URshd,
81958:1000 Pascal / 1000 URehd,
13 7978 Q07_DGT_May19_WSC1 If tan 6 = 24/7, find the value of 31905:cosb = 24 / 25, 31907
cosB. TG tan B = 24/7, A cosd HT HH I
Eay 31906:cosB = 25/ 7,
31907:cosb = 7 / 25,
31908:cosb = 25/ 24,
14 20509 QO07_DGT_NOV18_WSC1_ | What conversion takes place in bourdon | 81959:Pressure to displacement / 81959
M tube?dIS oga ® o1 FUIGRUT BT 82 ao/a & R
81960:Pressure to voltage / a9 ¥
e,
81961:Pressure to strain / Ga1d ¥ ¥,
81962 :Pressure to force / a9 I B,
15 7979 QO08_DGT_May19_WSC1 | (cosB + sinB)2 + (cosb-sinB)2 = 31909:Zero / Y, 31911
31910:1,
31911:2,
31912:4,
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16 20510 QO08_DGT_NOV18_WSC1_ | The two diameters of the top pulley 81963:(i) 21.28 (ii) 46, 81964
M block of a differential pulley block (figure - —
below) are 225mm and 230 mm 81964:(i) 21.28 (ii) 92,
respectively. For raising a load of 200 N, - —
a pull of 9.4 N has to be applied. Find its | 81965:(i) 10.64 (ii) 92,
(i) Mechanical Advantage (ii) Velocity (i "
Ratio.U® et e o st (41 o) @1 | S 1206:(1) 10.64 (ii) 46,
Gl 1T gt &1 & HRT: 225 mm 3R 230
mm 81 200 N & YR &I I & 1T 9.4 HT
A T TS | ;G B (i) TS T (i)
T SUTd
17 7980 Q09_DGT_May19_WSC1 |[1B.T.U. = 1983, = [ 31913:252 calories / 252 HaRI, 31913
|
31914:522 calories / 522 HdKRI,
31915:225 caloris / 225 $dRl,
31916:255 calories / 255 $aRl,
18 20511 Q09_DGT_NOV18_WSC1_ | To connect two parallel and coplanar 81967:Spur gear / TR R, 81967
M shafts, the %pe Qf g:ﬁaqring used is
Ol WAIR 3R PR AW B9 | 81968:Bevel gear / dad FRR,
T ¥ T, ST o T AT gear/
TR B:- 81969:Spiral gear / Tfid TR,
81970:Rack and pinion / Y& 3R
fafag,
19 7981 Q10_DGT_May19_WSC1 The temperature at which both Celsius 31917:Minus 40° / HISAY 40°, 31917
a%dgFahrenheit scales read the same is:-
dIHE IR > -
T 88 B ¥, 98 aIIH B:- 31918:Minus 32° / HIgYH 32°,
31919:Minus 23° / HIgYH 23°,
31920:Minus 42° / HIgIH 42°,
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20 20512 Q10_DGT_NOV18_WSC1_ | The velocity ratio of two pulleys 81971:Directly proportional to their 81972
M connected by an open belt or crossed :
conne e ool diameters / 370 IR & Y T,

¥ IS} < gferat &1 faeiet srurd 8
—_— 81972:Inversely proportional to their
diameters / 3% A &

3TuTiep,

81973:Directly proportional to the
square of their diameters / 3%

& a7 & Y Ui,

81974 :1Inversely proportional to the
square of their diameters / 37 &N

& ¥ o fAURId SUT,

21 7982 Q11_DGT_May19_WSC1_ | A load of 600 N is kept on an 31921:561.9 N/ 561.9 T, 31923
M inclined plane at 30°. What is the
normal reaction? 600 N &T 4R 30 fgft v | 31922:591.6 N/ 591.6 U1,

b U IdE W W1 Wl &1 WA wiaifean

2 31923:519.6 N/ 519.6 U1,
31924:516.9 N/ 516.9 €1,
22 20513 Q11_DGT_NOV18_WSC1 Which of these is the equation for Ohm's | 81975:W = Fd, 81976
law?s T & § B It 3HIE 39 & S &
fer g7 81976:V = IR,
81977:R =1V,

81978:PE = mgh,
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23 7983 Q12_DGT_May19_WSC1 Which of these helps in reducing friction | 31925:Use of belt drive / el EIECK 31927
in the working of machines? [ & B B-q-ch-r[
T gyl B HH A B S8 I T 4G HRdl 4
2 31926:Decreasing speed of machine /
AR P gedr Tfd,
31927:Use of ball and roller bearings
/ Sia 3R AR ST o1 Iud,
31928:Increasing speed of machine /
TR T Fadt T,
24 20514 Q12_DGT_NOV18_WSC1_ | Which instrument is used to measure 81979:Pyrometer / TIEIHICR, 81981
M thermal properties, such as heat ot
capacity or heat produced by a fuel? .
- ﬁ%m& St 81980:Hydrometer / BESIHICR,
Jarfed 7, JUBUT BT . ; FAREER
T N . 81981:Calorimeter / ,
81982:Manometer / AR,
25 7984 Q13_DGT_May19_WSC1_ | The area of a square field is 24200 sq. 31929:2 minutes / @l fiFc 31929
M m. How long will a person take to cross
the field diagonally at the rate of 6.6 km -
%er hour? Wﬁmmzél_zoo it Hex 31930:2.4 manteS/ 24.&F|—Cr,
| A T fad @1 6.6 T ufd der t @k & - -
a7 ) ’oR3T IR 1 § a1 999 a@am? 31931:2.5 mlnutes/Z.SﬁFI'C',
31932:3 minutes / 3 fiF e,
26 20515 Q13_DGT_NOV18_WSC1_ | A bow as shown in figure given below, 81983:Potential energy / e 81983
M %cérssﬁgsses - T& oY, agT BIEl St
camn e, . Fl ; —
81984 :Kinetic energy / & gAfe® Eﬁli,
81985:Potential energy and kinetic
energy both / TICR™IA 3R
81986:No energy / B3 ol Tal,
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27 7985 Q14_DGT_May19_WSC1_ | The circumfrence of the front wheel of a | 31933:600 feet / 600 Bic , 31936
M cart is 30 feet and that of the rear wheel
is 36 feet. What is the distance covered qﬂg
if the front wheel makes five turns more | 31934:700 feet / 700 ,
than the rear wheel?Ud ‘TT?[ & 3Td Ufgy /
@1 Ry 30 B¢ 3R el ard uRT $136 | 31935:750 feet / 750 Wic
wie 21 afe ImA &1 ulew By & ufed
a1 § e g 3t o € 1 b g8t | 31936:900 feet / 900 WiT ,
TT PI ST 82
28 20516 Q14_DGT_NOV18_WSC1_ | Which Newton's %a% also Cgvgltledv"L@W 81987:Newton's First Law of Motion / 81987
M of Inertia"? ILEH' DI DI "l 3T e BT ugdl Fﬁ’ Sﬂ’-qg -;h-Q-H
R ot Hed 82 !
81988:Newton'§ Sgcond law of Motion
/ <ged D1 GO A1 31 AIRH,
81989:Newton\:s Ihird Law of Motion /
e BT JRRT Af 1% AR,
81990:None of the above / 71 I &I
Ht 78T,
29 7986 Q15_DGT_May19_WSC1 What is the unit of plane angle? JHdd 31937:Degree / %‘;ﬂl 31938
B0 DI FBIS T 82
31938:Radian / YT,
31939:Steradian / @QII%EI:I,
31940:Mole / HId,
30 20517 Q15_DGT_NOV18_WSC1 | The diameter at the root of M10 bolt is 81991:24455 N, 81992
8.5 mm. Calculate the load required to
fracture it if the ultimate stress of the _
material is 450 N/mm2. T% M10 diec &I 81992:25545 N,
e o 8.5 ol g1 afe weiivera &1 sfeciie | 81993:26645 N,
Y 450 N/mm2 & dl 3 ThaeR a1 & forg
e S @t srazgdar grir? 81994:27745 N,
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31 7987 Q16_DGT_May19_WSC1 | Litre is the unit of .dlRTS | 31941:Area / &7, 31942
1 HES _
31942 :Capacity / &HdlI,
31943:Density / Udd,
31944 :Pressure / qdld,
32 20518 Q16_DGT_NOV18_WSC1_ | The dimensions of a steel washer are: 81995:1.44 kg / 1.44 %q'[_, 81995
M Outside dia. = 28 mm; inside dia. = 14
mm; thickness = 2 mm. Specific gravity | 81996:1.84 kg / 1.84 %4;”
of steel = 7.8. Caé%rlate thae; welgh%of !
200 washers.Udh dIRR o M .
T e PR o T - 14 81997:2.04 kg / 2.04 U,
foreft ; wiers 2 et Iﬁafb"f@@@ﬁﬁﬁﬂ 81998:2.44 kg / 2.44 UL,
= 7.8 1 200 ARRI & qoI BI TUHT B
33 7988 Q17_DGT_May19_WSC1_ | The toughness of a piece of steel is 31945:Annealing / 4T T UM 98[ DI 31947
M increased and brittleness is decreased by Fal )
a heat treatment process called:- ’
AUTER ¥ Ed & T ¢hs DI HoRdl 96 —
aﬁ%aﬁ;wm@m% S utpa & | 31946:Normalizing / ATHIN 94T,
S L] 31947:Tempering / <O,
31948:Hardening / PR FM ,
34 20519 Q17_DGT_NOV18_WSC1 | A train running at 20 metre per second 81999:30 metres / 30 ]:ﬂal 82000
comes to stop in 6 seconds. Distance
covered=______.20 82000:60 metres / 60 HIcI
Jbs W I arell Mt 6 Jhs T I el g / !
TR . 82001:90 metres / 90 HIeR,
82002:120 metres / 120 HIey,

www.kinsindustries.com




DGT WSC Paper -1

35 7989 Q18_DGT_May19_WSC1_ | "Cyaniding" and "Nitriding" are two 31949:Hardening / DHIR ST , 31952
M methods of . "
TECRIET A Wb g 31950:Normalising / IMHRI ST,
31951 :Annealing / T W TF 9gM I
hdl,
31952:Case hardening / JS @3RI,
36 20520 Q18 DGT_NOV18 WSC1_ | Which furnace is used for manufacturing | 82003:0pen hearth furnace / 3fiud g1 | 82004
M cast iron?®HRE AHRA & IAGA & [T DA Wy
T I IUTIT o i 82 ’
82004 :Cupola / HUIdI,
82005:Bessemer converter / SRR
Hac,
82006:Puddling furnace / G&[eT g,
37 7990 Q19_DGT_May19_WSC1_ | Two forces 200 N and 150 N act on a 31953:324 N, 31953
M body at an angle of 45°. The resultant
is:- U fi8 R 200 N R 150 N» al ga | 31954:304 N,
%soéaﬂmwmmﬁ%mmﬁmﬁ 31955:294 N,
: 31956:274 N,
38 20521 Q19_DGT_NOV18_WSC1 | In figure given below, lengths of lines 82007:8.06 cm / 8.06 @ﬁ’[l 82007
are in cm. Here, length of AB%is:-:ﬁ%ﬁH
& U fom & Yarelt &t aars 9 & 71 9gi, AB -
N Sy Y 82008:8.08 cm / 8.08 T,
"
| 82009:8.10 cm / 8.10 I,
7 13
£ R 82010:8.12 cm / 8.12 941,
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39 7991 Q20_DGT_May19_WSC1 Momentum of a body = 31957:Mass x Acceleration x | 31958
B o T = ration / godHA
31958:Mass x Velocity / SIHM x a7,
31959:Acceleration x Velocity / @0l
x 3,
31960:Weight x Velocity / YR x o,
40 20522 Q20_DGT_NOV18_WSC1_ | From a give square sheet of 400 mm 82011:19.50%, 82013
M side, a circular piece of diameter 400
mm has been cut. The remaining 82012:20.50%
material is waste. Percentage wastage = !
T W e g &) g 82013:21.50%,
400 forft €, & @ 400 foreft ooy aren Ueb . 3
> meélmﬁw 82014:22.50%,
I 31 vhowd AR =
41 7992 Q21_DGT_May19_WSC1_ | Cast iron is produced in the furnace 31961:Bessemer converter / SOHR 31964
M known as E@g?ﬁ%ﬁ
Iare forg vgl § b e €, 39 :
”%ma 31962:Blast furnace / IARE B4,
31963:Puddling furnace / TSfHT 9 ,
31964:Cupola / UIaT ,
42 20523 Q21 _DGT_NOV18 WSC1 |If(a+b)=8and(a-b)=2;(as +bs) | 82015:607, 82016
—4tﬂ?(a+b)_ssﬁua-b) _
— 2. (a4 + ba) = 82016:706,
82017:766,
82018:677,
43 7993 Q22_DGT_May19_WSC1 What is the mass of a liquid if its specific | 31965:3.5 kg / 3.5 ﬁy—i;r[, 31966
gravity is 2.5 and volume is i litre? afq
TRl BT AR To@ 2.5 7 IR smaa dlex 8, | 31966:2.5 kg / 2.5 fobuT,
@ WA BT YR T 62
31967:2 kg / 2 fom,
31968:1.5 kg / 1.5 T,
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44 20524 Q22_DGT_NOV18_WSC1l | A ladder leans on a wall making 60° with | 82019:6 metre / 6 ]:ﬂqu 82020
the ground. If the foot of the ladder is 5
metre away from the wall, find the . 'FﬁET
laa:?rg[er Iength%wﬁ@ag’f:fui 600 a%%g 82020:10 metre / 10 ,
U AR & WY Yl 31 IS At or . e
e e U 82021:9 metre / 9 ,
82022:7.5 metre / 7.5 IiIEQ,
45 7994 Q23_DGT_May19_WSC1 | What is the volume of an object of 15 31969:1.923 cubic cm / 1.923 99 THI, | 31969
gram having specific gravity as 7.8? 15
T F1 9% BT AR e 7.8 AT P | 31970:1.950 cubic cm / 1.950 &
ST 4 87 .,
31971:1.955 cubic cm / 1.955 U I,
31972:1.960 cubic cm / 1.960 U1
9.4,
46 20525 Q23_DGT_NOV18_WSC1_ | The chief alloying elements of stainless | 82023:Chromium and nickel / ShifigH | 82023
M %teel are: -y ¥ld & g7 Ay urg dd IR B
82024:Chro_rnium and tungsten /
P 3R TTReH,
82025:Nickel and vanadium / F&d
3R gAfeam,
82026:Nickel and tungsten / F&d 3R
47 7995 Q24_DGT_May19_WSC1 Brass is an alloy of 31973:Copper and tin / RICIROICY ﬁ:{l 31975
. Gida &1 iy urg
3 31974:Lead and tin / 7 3R feT,
31975:Copper and zinc / di&T 3R S,
31976:Copper and silver / didl 3R
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48 20526 Q24_DGT_NOV18 WSC1 [ The SI unit of length is:- T8 &I SI 82027 :Millimetre / el #iex, 82030
82028:Centimetre / Il HIcR,
82029:Decimeter / 34 Iy,
82030:Metre / HIcR,

49 7996 Q25_DGT_May19_WSC1 Which of these is the lightest metal? 378 | 31977:Lead / E']_g,’, 31980

Y T gob! UTg B AT 82
31978:Tin / feq,
31979:Copper / didl,
31980:Aluminium / TegHHIH ,

50 20527 Q25_DGT_NOV18_WSC1 | The force applied on piston head is 5000 | 82031:60 Joule / 60 Sd, 82032

N during power stroke. What is the work

done during this stroke, if stroke length

is 120 mm?UIR TH & RH, e g8 W

5000 N I Tl €1 3G T ot TS 120

mm 8 dl 39 Td & SR ab S

gII?
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